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QUESTION 1

View the Exhibit showing steps to create a database resource manager plan.

SQL>execute dbms_resource_manager.create_pendingarea();

PL/SQL procedure successfully completed.

SQL>exec dbms_resource_manager, create_consumergroup
(consumer_group=>\\'OLTP,,comment=>,onlineuser\\')

PL/SQL procedure successfully completed.

SQL>exec bras resource_manager.create plan(plan=>\\'PRIU3ER3\\',comment=>\\'dssprio\\");
SQL>exec

Dbms_resource_manager.create_plan_directive
(plan=>\\'PRIU3ER3\\',group_or_subplan=>\'OLTP\\',comment=>\\'onlinegrp\\'CPU_PI=>60);
PL/3QLproceduresuccessfullycompleted.

After executing the steps in the exhibit you execute this procedure, which results in an error:
SQL> EXECUTE dbms_resource_manager. validate_pending_area ();

What is the reason for the error?

A. The pending area is automatically submitted when creating plan directives.

B. The procedure must be executed before creating any plan directive.

C. The sys_group group is not included in the resource plan.

D. The other_groups group is not included in the resource plan.

E. Pending areas can not be validated until submitted.

Correct Answer: D

QUESTION 2

You want to consolidate databases for the CRM, ERP, and SCM applications by migrating them to pluggable databases
(PDBs).

You have already created a test system to support the consolidation of databases in a multitenant container database
(CDB) that has multiple PDBs.

What is the easiest way to perform capacity planning for consolidation?

A. capturing the most resource-intensive SQL statements in a SQL Tuning Set on the production system and using the
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SQL Performance Analyzer on the test system

B. capturing the workload on the production system and replaying the workload for one PDB at a time on the test
system

C. capturing the workload on the production system and using Consolidated Database Replay to replay the workload of
all production systems simultaneously for all PDBs

D. capturing the most resource-intensive SQL statements in a SQL Tuning Set on the production system and using the
SQL Tuning Advisor on the test system

Correct Answer: C

QUESTION 3

Which two are true about Oracle Secure Backup (OSB)? (Choose two.)

A. It can be used to take proxy copies to tape.

B. It can be used to take image copy backups to tape.

C. It can be used to manage tape backup and restore operations for files.

D. RMAN can backup up databases to OSB without requiring media manager channel parameters.
E. It can be used to manage tape backup and restore operations for files systems.

Correct Answer: CE

Reference: https://docs.oracle.com/cd/B19306_01/backup.102/b14234/obadm_arc.htm

QUESTION 4

Which two are direct benefits of the multiprocess, multithreaded architecture of Oracle Database 12c when it is
enabled? (Choose two.)

A. Reduced logical I/O

B. Reduced virtual memory utilization

C. Improved Serial Execution performance
D. Reduced physical I/0

E. Reduced CPU utilization

Correct Answer: BE

QUESTION 5

Which three statements are true about Oracle Restart? (Choose three.)
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A. It can be configured to automatically attempt to restart various components after a hardware or software failure.
B. While starting any components, it automatically attempts to start all dependencies first and in proper order.

C. It can be configured to automatically restart a database in case of normal shutdown of the database instance.
D. It can be used to only start Oracle components.

E. It runs periodic check operations to monitor the health of Oracle components.

Correct Answer: ABE

Reference: http://docs.oracle.com/cd/E18283_01/server.112/e17120/restart001.htm
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